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What is the solution of the equation
S5+ x=137

---------------------------------------------------------------------------------------------------------
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O 150
ﬂ.

The heights of 6 students in
centimeters are:
135,124,135,160, 150, 135,
find the mode of the data.

O 1475

(R Fadidl b 6 Jish
.135,124,135,160,150,135
casdll Jlgiall 22l

oxall JIe
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heae

. 2ayadl pyall abouul @Sl dsl
Find the total surface area of the 5o \Al) el apgl gedacad ASH Aalisal) aaf
square pyramid shown in the figure ol (AN 8 dagal
below.
AY
9cm

' A V.
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) y 4 .
6cm

O 96 cm?

O 132cm?

O 120cm?
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The following line plot of data shows
the weights of a group of students.

Find the median of the data.

20 21 22 23 24 25

The weight

ol busedl gl

gl (AEN Azanall Ll hhia g,
Sl Jasaglt 2 SN (Ao pans
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’ Use the graph below to find the area Cipiall dad dalos alay slial J<) PR

of the shaded trapezoid. il

7m

O9m
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' ' ym

O 36 m?
O gom?

O 49m?

' O 64 m?
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T T

Finn Fitness shown in the figure

below has an intrence to the the

locker room from both the exercise

room and the weight room. What is

the total area of the Finn Fithess?

7 m

Exercise
12m Room

8m

Locker
Room

HHm

ol JS&N (B grilagall i) B Sy (g
Oubadll Al (e GiAN RS N Jaaa e
Oish gy

AELAN 5< a0 AflaaY) Aalcel) La

7m

= 8 m
{:’;I.JLA:II'I acla
12 m

e
o
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Exercise 8m it & e 8m
I 12 m R U:ULHJ'I dc.la
i
| Locker dig
'! RDDITI L.?:‘U:‘-H
i 3 m 6m 3m o 6m
| Weight Room Oagll Ad e

7 m 7 m

O 103 m?



103 m?

126 m?

110 m?

112 m?
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Next Question | e -

. saclall Juhis

A rectangular prism is 10 cm long, 10 cm algh Ay saclall Juddiiaa jgdia

-3 Cm dissy 4 Cm Aaf g
Aaging ¢ e 3 olaal) jiia caea

4 cm wide, and 3 cm deep.

Calculate how much water it could

contain.

O 190 cm?

O 180 cm3



O 190 cm?

O 180 cm?

O 120cm?

O 150 cm?
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| il Glhall Gl
The scores of 4 students are: .11,10,17,18 : ;2 B 4 Glap
\ 11,10,17,18. Find the mean caadll 3lhaal) Cilasy) Jawgia dagl

absolute deviation of the data.

O 3.5

O 1.5
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The following table shows the

number of CDs a group of friends

bought. Find the mean number of

CDs the group bought.

Number of CDs Purchased

. dzadall GalBSl Gulwsll o,

Y Aaasall el e MG Jgral) iiagy
Bugial cst . eBugYl (e A gana g5
e garall lgiid) (A Anatall QalBU alal)

10

6

]

9

5

W 3é a3 3 daaral) Gal®y) 2

10 | 6 5 9 5
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' Find the volume of the composite oLl zagall Shal) JSEN ana aaf

figure shown below.

bcm

S5cm

. ' ey A
; I_i‘" ,r'.
I i
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= Crm

O 138cm?3

O 168 cm3

O 172cm3

O 148 cm3
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Which of the following box plots LG Gpualall (63 (5 52al) llabia (e g
represents the data: .6,9,8,7,11,12,5 :oblall Jia
6,9,8,7,11,12,5.
0 \ |
7

~4 5 6 7 8 9 1011 12 1314 ~
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Find the volume of the triangular JSEN B pdagall AN ) gdiall aaa gl
prism shown in the figure below. .ol
4 cm
10 cm L
/l
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o

O 100 cm’
O 120cm?
O 60cm?

' O 200cm?
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= Next Question

, . dnazall bliill hi:
The folowing table represents the ik 14 igh Jha G0 Jgaall
weights of 14 kids. lilall dxanall oG Ushia ac )

Draw a line plot of the data.

The weight Oi$
25| 242321202220 25| 2423|2120 |22 20
[24J 24]25’25{20 23 (21 24| 24125125120123 |21
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, The weight O s \
7 25[ 24]2321]20]22]20 25| 24|23(21]20(221(20|
24| 2425|2520 |23 |21 24| 24 |25(25|20 |23 |21
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O ( o . ] o : @ n
20 21 22 23 24 25 g



CUCT IO T SOt RO 0T T O T DI T T T e T T e T LT e

v o v L e B S EarTT
°
© s}
o o © e
{ L} o -} ® @ ] ;
20 21 22 23 24 25
5] <]
L [}
L e 3 o
Py L o [ © e ] N
T 7
20 21 22 23 24 25



25

24

23

22

21

20

25

21




25

24

23

22

21

20

25

24

23

22

21

20

25

24

23

22

21

20




Tl

O
Q

£ B 2 ...2-2021- S byl Juadll dlgi) salell glaiel- Glual i - Gusludl s

sl 3Syaill
The following table shows the Lgus A Gleludl axe G BESENIE V-TY
number of hours that a group of oulaia La .Sluali )l LEAN (M degasa
students studied for the mathematics el i ga Sy <l
test. Which measure of center best
represents the data?
E Number of Hours Slelaudl axe
|1"2’2‘25 278 122\2‘5 2'7 8
| ] =
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Josagll
O

The median

Jigiall

The mode

(§all

The range

laal) Jasgial

The mean
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gy Next Question '
o,
{

Jlsoll Culiall &
| | Use the graph below to find the area Glial) dalusa slady olial JSAN ardsid
of the shaded triangle. IER
R~ .
N 8
| " Cm
Scm |
| !
| 5 RO,
| 12 cm

) 54 cm?



O 54 cm?

O 70 cm?

O 108cm?

D 60 cm?
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- Next Question’

, Oliluld JI

The following line plot of data shows Sael UGN daanall Bla b geia g,
the ages of a group of university Aollall Jlgiall aa gl cAzaladl Ak ya A gasa

students. Find the mode of the data.

L L
© ° d ° ¢ ° o e e °
e ° ® ° ® ° e ® ° ° ° °
20 21 22 23 24 25 20 21 22 23 24 25

The Age yanl)
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Use the graph below to find the area

of the shaded parallelogram.

el gALa 3l gi

Silsia Aaloce slady oLl JSAI) aa3ial
JiBall 3!

8m

7m

jot N~

11 m



el Auiat—d lndaditie

O 88 m?

O 80 m?

O 54 m?

O 77 m?

—_——
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TR S el S SRR
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Next Question o .

Jaoluall (o

Each side length of the rectangle in Jalaiuall &)L:ai Oa aha S Jgb wipa a5

the figure below is multiplied by 4, ) ] _ N
- i 4 Aaluall B Hadl ciua ¢ 4 8 ol Joal
describe the change in the area. J - -

8m

6 m



el JSl) Aalusa cile) 8 (o daliuall

O

The area is 8 times the area of the original figure.

I, { T EX P L. b Aaloal)
O B

. | - .
The area is y the area of the original figure.

o () JEEY daliia (e linia 16 (A dalual)
The area is 16 times the area of the original figure.
(e JEAN daloca iludl 4 (4 dalual)

The area is 4 times the area of the original figure.
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Find the volume of the pyramid colial JSEN 3 euagall asgll pas 2a

shown in the figure below.

10 cm



O 160cm3

O 200 cm3

O 180cm3

O 480cm?3



A rectangle vertices are:
A(2,5), B(7.5),C(7. 1), D(2, 1).

Use the coordinates of the rectangle

in the figure below to find the sum of

the rectangle sides.

rh Jabsa agly
.A(2,5),B(7,5),C(7,1),D(2, 1)
alial JS&) ot Jebiuaall Cililaag ardsi)
Jabiaall g3a0 gk £pana oy

N W A O o
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s 14
14 units

IRl e
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sy 14
14 units

2da4 18
18 units

Slaag 7

7 units

5.&;_, 12

12 units



Cbaelidl Jubhiwall jediiall alhuw d5lue

Find the surface area of the e \al) Juliluwall ) gdial) o daliia a3}
rectangular prism shown in the figure colial J<a 2 Tuagall
below.
6 cm
4 cm




O 208cm?

O 168 cm?

| O 192 cm?

|'
|
” O 188cm?



Find the interquartile range of the

data: 35,40,45,55, 60, 65,70.

FNTIURPCTRI BT S

rasdll L2l sdall dag)
.35,40,45,55, 60, 65,70






;o 25 - 22 °/

20-24 25-29 30-34 35-39 40-44 45-49

Weight (kg)

Students I Ol aac
8 8

7 7

6 e 6

5 ! 5

4 ' ‘ 4
3 i N 3
2 o | ‘ 2
1 | 1
0 | J 0

20-24

| j

. .

_1

B

25-29 30-34 35-39 40-44

\ (kg) OisY \

\
"\
_l

45-49
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vveignt (kg) [

| (k) Qo |
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The histogram shown in the figure
below shows the weights of a group
of students in kilograms. Find how
many students their weights where

less than or equal 34 kilograms.

Number of

Students IR
8 8

7 7

[
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ext Question

Find the range of the values coUal JSall 8 dliaall aidll gaall aaf

represented in the figure below.

“ =
T4 5 6 7 8 9 1011 12 13 14

N

O 7
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o M guiiiall pdoaw dola

Find the surface area of the (b peagall (AN ) gdiall mha Aaliia sag)
triangular prism shown in the figure L) g

below.




O 132 cm?

O 60 cm?

O 108 cm?

O 120 cm?
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The scores of 5 students in the final IR Hlgal LAY Ak 5 cla s

exam are: 85, 70, 80, 50, 40,
find the median of the data.

il lugll 1341 (85,70, 80, 50,40
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